A & ol & AF & F Al A
20228 = FA 3 3 L3
2M: FH
& 1200 M2=¢
Z 210 FAENASY
3 c 214 A4l (B9 &2
SN -F 282 Ofl & 04 J1E o HRE2
e A 10,660,259 9,274,280 1,385,979
2 Wt 10,660,259 9,274,280 1,385,979
200 Al 2l %2 1,518,211 1,190,000 328,211
210 ZAEAN 2+ 1,198,491 8,000 1,190,491
214 At ¢l 1,190,491 0 1,190,491
214-03 DH AL =& 1,190,491 0 1,190,491
OFANS(3AH, 28) EX 24U 1,190,491 0 1,190,491
220 LAIE A2 319,720 1,182,000 A 862,280
221 THAHOH 252 0 920,000 A920,000
221-03 SRMANLS3 0 920,000 920,000
OXADIS(3H, 28) EX 24U 0 920,000 920,000
224 J|Et= ¢ 214,720 157,000 57,720
224-07 1242 194,720 137,000 57,720
OOlE5Y 300AtY 2SI XM A&DX S#2U2 157,720 100,000 57,720
300 X g 2Al 775,000 0 775,000
310 X w2 Al 75,000 0 75,000
311 AgnEA 75,000 0 75,000
311-02 SENEAM 75,000 0 75,000
OXNNAZSSH ANEB2% Z4(0I23Y S4)(LEH) 75,000 0 75,000
320 NYASHESIIS 700,000 0 700,000
21 NYLBUHEII2 700,000 0 700,000
R1-01 XNgL2LUHSI12 700,000 0 700,000
OB S84 QMsn ZTYAY 700,000 0 700,000
500 Ex3 8,367,048 8,084,280 282,768
510 2 DB x2S 7,009,462 6,603,453 406,009
511 2 D8 X3S 7,009,462 6,603,453 406,009
511-01 212 %3 674,276 1,002,881 328,605
OMTHMOIHR KSR HAL (SBAIA 10K 2) 0 166,614 A 166,614
OFHASSEH(HLAZ NHXZER) 0 128,000 A 128,000
OMBIHYH HEEE TME(XAFTCE AX2IAY) 3,100 9,350 26,250
Hofl2 U0l OXe Z2ME(XNEFCE FHYT
2l Abe)
15,000 17,841 A2,841
OZY MIHBN & HEALs T2HE 17,600 21,300 A3,700
OFZ24 4t HFE&D LX2I&BD ALY 11,550 15,750 24,200
OAaZOl HESIL: Td 27X 3,000 0 3,000
ol SAXAA (HEA) 0 20,000 20,000
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